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Another problem which challenged 


Perth’s Ganesh Viswanath in the 


Australian Junior Problem Solving 


Championship last January: White 


to play and draw in 4 moves (clue –


remember last week’s position):

The final WA Grand Prix event of 2007, the Christmas Open (24 players), was won by state champion Tristan Boyd (5.5/6).  Equal second was Michael Wilkins (5), closely followed by Stephanus Kurniawan & Marc Vliestra (4.5).  Guy Booth and Ned Tomic (3.5) were joint Under 1800 winners with Alex de Heer (3) gaining the Under 1500 award and Derby Thurtell (2.5) the Under 1500 Junior. At the close of the tournament presentations were made to the overall Grand Prix winners for 2007; they were: Premier –1st Michael Wilkins, 2nd Tom Donaldson, 3rd Andrew Kuklinski: Major – 1st Robert Galvin, 2nd Ned Tomic, 3rd Gordon Dunlop: Minor – 1st Ryan Sam, 2nd Gary Donaldson, 3rd Guy Booth. 
Winners of other WA titles were also presented with trophies, WA Champion Tristan Boyd,  Reserves Dennis Holland, Women Verity Williams, Junior Shyam Balaji, as well as winners of various Junior and Girls age groups.

Yita Choong    -    Andrew Hardegen 


2007 Christmas Open Round 5

French Tarrasch

1. e4          e6 

2. d4              d5 

3. Nd2       Nf6 
4. e5              Nfd7 

5. f4(a)      c5 

6. c3              Nc6 

7. Ndf3      Qb6 
8. g3              cxd4 

9. cxd4      f6(b) 
10. Bh3          Bb4+ 

11. Kf1      O-O! 
12. Bxe6+(c) Kh8 

13. Bh3(d) fxe5 
14. dxe5        Nc5 

15. Bxc8    Ne4! 
16. Qe2(e)     Raxc8 

17. Nh3      g5?!(f) 
18. Nf2?(g)   Qxf2+

19. Qxf2    Nxf2 
20. Kxf2        g4  

21. Ne1      Nxe5 
22. Ke3          Rc4! 

23. fxe5     Bxe1 
24. Rxe1        Re4+ 

25. Kd2     Rf2+ 
26. Kd1          Rd4+ 

27. Bd2     Rdxd2+ 
28. Kc1          Rc2+ 

29. Kb1     Rxb2+ 
30. Kc1          Rbc2+ 

31. Kb1     Rce2 
32. Rd1?        Rb2+ 


White resigns(g)
a) Playing f4 to support the e pawn forces Black to take sharp action to avoid being permanently cramped.
b) An aggressive alternative is 9... Bb4+ 10.Kf2 g5. 
c) 12.Kg2 Kh8! 13.Bxe6 fxe5 14.Ng5 Nxd4 15.Nf7+ Rxf7! 16.Bxf7 Nf6 17.fxe5 Bg4 18.Qa4 Bf5! 19.exf6 Be4+ winning is an example of a successful attempt by Black to exploit White’s tardy development and insecure king through sacrifices. 
d) Black threatens 13…Ndxe5 and 13.Bxd7 would give Black white square domination while if 13.exf Nxf6 14.Bxc8 Raxc8 15.Ne2 Ne4 Black dominates across the board.
e) Not 16.Bh3?? Qf2#.
f) In his notes Andrew says, ‘Fritz points out that my 17...g5 was incorrect, as I suspected. 18.Nhxg5 is much better for White …. I felt tempted to play 17...Bc5 instead, and this might be the move that I would have decided on had this been a club tournament. But at weekenders, with faster time controls and three games on each day, aggressive, speculative play more often produces results’. (17... Bc5 18.Nhg5 Nd4 19.Nxd4 Nxg5) 
g) A serious error.  White could play 18.Nhxg5 Nd4 19.Nxd4 Nxg5 20.Be3 Bc5 21.Rd1 Bxd4 22.Bxd4 Qe6 with White now two pawns up although Black has the better minor piece and will seek to maintain control of the white squares and continue to try to get at the White king. 
h) 33.Kc1 Rfc2#.

SOLUTION: 1.h7+ Kh8 (1…Kg7 2.Qc7+) 2.Qc3+ Qg7 (2…Kxh7 3.Qc7+) 3.h6!! Qxc3 stalemate. Black can try 3…Ra8+ but after 4.Kb1 Qxc3 is also stalemate.
